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May the 1/4th be with you! 

 
Multiply the number of Tie Fighters by X- wings? 
 
How many more Tie fighters are there? 
 
If just over half of the Tie fighters are destroyed,  
How many are left? 
 
What is the length of the Tie fighter and X wing together? 
 
What is the total length of all the x wings? 
 
How many Tie fighters do you need to carry 195kg of cargo? 
 
If the X wing can travel 1600 kilometres per hour, 
 how much faster is it? 

 

Work out zone 



  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
  

Place value 
 
40÷10= 
35X100= 
0.43x1000= 
7500÷10= 
62÷10= 
86X100= 
14÷100= 

Percentages 
To find the percentage of a number its essential you find 10%. 
To find 10% you divide the number by ten.  
With 10% you can half it to find 5%, divide it by 10 to find 1% 
and multiply it by 2 to make 20% etc. 

 45% of 120 light sabres are blue. How many 
are blue? 

 10%= 12   5%=6 
 40%= 48  (12x4) 
 45%= 54  (48+6) 

 
10% of 150=   60% of 80= 
 
32% of 200=   85% of 60= 
 
15% of 1400=   26% of 180= 

Percentage to decimal 
 
To convert from a percentage to 
a decimal just remove the % 
sign and move the numbers two 
places to the right on the place 
value chart. 
 

Percentage  Decimal 

38%  
65%  
 0.28 
 0.05 
76%  
 1.0 
50%  

  



Word Problems 
 
AT-AT’s carry 48 storm troopers onto the battle field. Darth 
Vader sent 15 AT-AT’s to wipe out the rebel base on Hoth. If 
6 where destroyed, how many storm troops join the fight? 
 
 
R2D2 can move at 10mph, how long will it take him to travel 
1.2km? 
 
 
It takes 52 hours to charge up the weapon needed to destroy 
a planet and 19 hours to cool down. How many days will it 
take to destroy two planets? 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
  

Bodmas 

 Tells you the order to work out 
a question when it has multiple 
operations 
 
Work out the problems 
attached to each member of 
the empire  to find their 
power.   
List the empire from most to 
least powerful (descending 
order) 

   
   
   
   
   

 
 
 
 

8 x (16+12)-3= 

35 x 2 +6 -24= 

5200÷20 + (6 x 2)= 
4 x (14 -12)-3= 



 
 
=90 
 
 
=80 
 
 
 
=94 
 

 
  

  

 

 

 
 

  

 

= 

= 

= 

Work out zone 

= 

= 



 



Write three questions you would ask someone 
else about this text. 

 

   
 

   
 

  



Shading the fraction of a shape     
If you are shading the fraction of a shape that has been broken into pieces already 
then you just need to remember this method.  
 
Numbers of pieces, divided by the denominator, and multiply the answer by the 
numerator.  
This then tells you how many pieces of a shape you need to shade. 
 
 
 

2

5
 of this shape = 10÷5=2x2=4 pieces shaded 

 
 
 
 
 
 
 
 

 

Shade these Death Stars 
according to the fraction 

1
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2

3
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Design your own R2D2 

 


